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Shawlette Muguet 

Material: 

1 ball of Terra Coton Bio Cheval Blanc color mastic and 2 balls of Terra Cheval Coton Bio Blanc color 

Anis. 

Circular Needles 3.5mm with a cable of 80 or 100cm minimum. 

Beads 

A fine hook to insert beads. 

Points and abbreviations : 

k : knit 

K2tog: knit 2 together 

p: purl 

P2tog: Purl 2 together 

SK2P: slip 1 knitwise, knit 2 together, Passover the knitwise stitch. 

SSK: Slip, slip , knit. 

Yo: Yarn Over 

m1 : make one 

st : stitches 

(…)x… : knitting pattern in brackets as many times as is indicated after « x ». 

*…* : knitting pattern indicated between * and * to the end of the row or to the following details. 

CA : color A, Mastic 

CB : color B,Anis 

R : row 

T : lateral braid, follow this link to know how to do. 

  

http://lesaiguillesdecamille.com/category.php?id_category=94
http://lesaiguillesdecamille.com/category.php?id_category=94
http://www.tricotepastout.com/archives/2016/05/09/33783905.html
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Part 1 : Body of the shawl. 

 

Shawlette Muguet Part 1 

Row and color 5CA 7CA 9CA 11CA 13CA 15CA 17CB 19CA 21CA 23CA 25CA 27CA 29CA 

number of stitches 52 54 56 58 60 62 79 81 83 85 87 89 91 

Row and color 31CA 33CA 35CA 37CA 39CA 41CB 43CA 45CA 47CA 49CA 51CA 53CA 55CA 

number of stitches 93 95 97 99 101 135 137 139 141 143 145 147 149 

Row and color 57CA 59CA 61CA 63CA 65CA 67CA 69CA 71CA 73CA 75CA 77CA 79CA 81CB 

number of stitches 151 153 155 157 159 161 163 165 167 169 171 173 231 

Cast on 50 stitches with color A,  

Row 1, 2 and 3: k50 

R4 : p50 

R5: k2, Yo, *k*, 2st before the end of the row, make 1 Yo and finish with k2. 

R6 and all the wrong side rows (unless otherwise indication), color A: k2, *p* finish with k2. 

R7,9,11,13,15: Proceed as for the row 5 in color A. 

R17 color B: k2, Yo, k1, m1, (k4, m1)x14, k1, Yo, k2. 

R18 color B: T 

R19,21,23,25,27,29,31,33,35,37,39 : Proceed as for the row 5 in color A. 

Wrong side rows: proceed as for the row 6 in color A.  

R41 color B: k2, Yo, k1, m1, (k3, m1)x32, k1, Yo, k2. 

R42 color B: T 

R43,45,47,49,51,53,55,57,59,61,63,65,67,69,71,73,75,77,79 : Proceed as for the row 5 in color A. 

Wrong side rows: proceed as for the row 6 in color A.  

R81 color B: k2, Yo, k1, (m1, k3)x56,Yo, k2. 

R82 color B : T 



 

3 

Part 2 : Lace edge : 

For this edge, knit with the color B only. 

R1 : k2, Yo, k4 (k7, P2tog, k2, Yo, k5, Yo, k2, P2tog, k7,(K2tog, Yo)x2, k1, (Yo, SSK)x2, k3)x5, k7, P2tog, k2, Yo, k5, Yo, k2, P2tog, 

k8, Yo, k2. (233st) 

R2 and all the wrong side rows: k2, *p*, finish with k2. 

R3 : k2, Yo, k5, (k6, P2tog, k2, Yo, k1, Yo, k2, P2tog,k11, K2tog, Yo, K2tog, (k1, Yo)x2, k1,SSK, Yo, SSK, k2)x5, k6, P2tog, k2, Yo, k1, 

Yo, k2, P2tog, k14, Yo, k2. (235st) 

R5 : k2, Yo, k6, (k5, P2tog, k2, Yo, k3, Yo, k2,P2tog, k9, K2tog, Yo, K2tog, k2, Yo, k1, Yo, k2, SSK, Yo, SSK, k1)x5, k5, P2tog, k2, Yo, 

k3, Yo, k2,P2tog, k14, Yo, k2. (237st) 

R7 : k2, Yo, k7, (k4, P2tog, k2, Yo, k5, Yo , k2, P2tog, k7, K2tog, Yo, K2tog, k3, Yo, k1, Yo, k3, SSK, Yo, SSK)x5, k4, P2tog, k2, Yo, 

k5, Yo , k2, P2tog, k14, Yo, k2. (239st) 

R9 : k2, Yo, k8, (k9, P2tog, k2, Yo, k1, Yo, k2, P2tog, k8, Yo, SSK, k7, K2tog, Yo, k2)x5, k9, P2tog, k2, Yo, k1, Yo, k2, P2tog, k14, Yo, 

k2. (241st) 

R11: k2, Yo, k9, (k8, P2tog, k2, Yo, k3, Yo, k2, P2tog, k8, Yo, SSK, k5, K2tog, Yo, k3)x5, k8, P2tog, k2, Yo, k3, Yo, k2, P2tog, k14, 

Yo, k2. (243st) 

R13: k2, Yo, k10, (k7, P2tog, k2, Yo, k5, Yo, k2, P2tog, k8, Yo, SSK, k3, K2tog, Yo, k4)x5, k7, P2tog, k2, Yo, k5, Yo, k2, P2tog, k14, 

Yo, k2. (245st) 

R15: k2, Yo, k11, (k6, P2tog, k2, Yo, k1, Yo, k2, P2tog, k14, Yo, SSK, k1, K2tog, Yo, k5)x5, k6, P2tog, k2, Yo, k1, Yo, k2, P2tog k20, 

Yo, k2. (247st) 

R17: k2, Yo, k12,(k5, P2tog, k2, Yo, k3, Yo, k2, P2tog, k14, Yo, SK2P, Yo, k6)x5, k5, P2tog, k2, Yo, k3, Yo, k2, P2tog, k20,Yo, k2.  

(249st) 

R19: k2, Yo, k13, (k4, P2tog, k2, Yo, k5, Yo, k2, P2tog, k14, Yo, k1, Yo, k7)x5, k4, P2tog, k2, Yo, k5, Yo, k2, P2tog, k20, Yo, k2.  

(261st) 

R21: k2, Yo, k14,(k9, P2tog, k2, Yo, k1, Yo, k2, P2tog, k14, Yo, k1, Yo, k8)x5, k9, P2tog, k2, Yo, k1, Yo, k2, P2tog, k20, Yo, k2.  

(273st) 

R23: k2, Yo, k15, (k8, P2tog, k2, Yo, k3, Yo, k2, P2tog, k14, Yo, k1, Yo, k9)x5, k8, P2tog, k2, Yo, k3, Yo, k2, P2tog,k20, Yo, k2.  

(285st) 
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R25: k2, Yo, , k4, (K2tog, Yo)x2, k1, (Yo, SSK)x2, k3, (k7, P2tog, k2, Yo, k5, Yo, k2, P2tog, k10, (K2tog, Yo)x2, k1, (Yo, SSK)x2, 

k6)x5,k7, P2tog, k2, Yo, k5, Yo, k2, P2tog, k10, (K2tog, Yo)x2, k1, (Yo, SSK)x2, k1, Yo, k2.  (287st) 

R27: k2, Yo, , k4, K2tog, Yo, K2tog, (k1, Yo)x2, k1, SSK, Yo, SSK, k2, (k6, P2tog, k2, Yo, k1, Yo, k2, P2tog, k14, K2tog, Yo, K2tog, (k1, 

Yo)x2, k1, SSK, Yo, SSK, k5)x5, k6, P2tog, k2, Yo, k1, Yo, k2, P2tog, k14, K2tog, Yo, K2tog, (k1, Yo)x2, k1, SSK, Yo, SSK, k1,Yo, k2.  

(289st) 

R29: k2, Yo, k4, K2tog, Yo, K2tog, k2, Yo, k1, Yo, k2, SSK, Yo, SSK, k1, (k5, P2tog, k2, Yo, k3, Yo, k2, P2tog, k12, K2tog, Yo, K2tog, 

k2, Yo, k1, Yo, k2, SSK, Yo, SSK, k4)x5, k5, P2tog, k2, Yo, k3, Yo, k2, P2tog, k12, K2tog, Yo, K2tog, k2, Yo, k2.  (291st) 

R31: k2, Yo, k4, K2tog, Yo, K2tog, k3, Yo, k1, Yo, k3, SSK, Yo, SSK, (k4, P2tog, k2, Yo, k5, Yo, k2, P2tog, k10, K2tog, Yo, K2tog, k3, 

Yo, k1, Yo, k3, SSK, Yo, SSK, k3)x5, k4, P2tog, k2, Yo, k5, Yo, k2, P2tog, k10, K2tog, Yo, K2tog, k3, Yo, k1, Yo, k3, SSK, Yo, SSK, k1, 

Yo, k2.  (293st) 

R33: k2, Yo, k7, Yo, SSK, k7, K2tog, Yo, k2, (k9 P2tog, k2, Yo, k1, Yo, k2, P2tog, k11, Yo, SSK, k7, K2tog, Yo, k5)x5, k9, P2tog, k2, 

Yo, k1, Yo, k2, P2tog, k11, Yo, SSK, k7, K2tog, Yo, k4, Yo, k2.  (295st) 

R35: k2, Yo, k9, Yo, SSK, k5, K2tog, Yo, k3, (k8, P2tog, k2, Yo, k3, Yo, k2, P2tog, k11,Yo, SSK, k5, K2tog, Yo, k6)x6, Yo, k2.  (297st) 

R37: k2, Yo, k11, Yo, SSK, k3, K2tog, Yo, k3, (k7, P2tog, k2, Yo, k5, Yo, k2, P2tog, Yo, SSK, k3, K2tog, Yo, k7)x6, k1, Yo, k2.  (299st) 

R39:k2,Yo,k13,Yo, SSK, k1, K2tog, Yo, k5,(k6 , P2tog, k2, Yo, k1, Yo, k2, P2tog, k17, Yo, SSK, k1, K2tog, Yo, k8)x6,k2, Yo, k2. (301st) 

R41: k2, Yo, k15, Yo, SK2P, k6, (k5, P2tog, k2, Yo, k3, Yo, k2, P2tog, k17, Yo, SK2P, Yo, k9)x6, k3, Yo, k2. (303st) 

R43: k2, Yo, k17, Yo, k1, Yo, k7, (k4, P2tog, k2, Yo, k5, Yo, k2, P2tog, k17, Yo, k1, Yo, k10)x6, k4, Yo, k2.  (319st) 

R45: k2, Yo, k19, Yo, k1, Yo, k8,(k9, P2tog, k2, Yo, k1, Yo, k2, P2tog, k17, Yo, k1, Yo, k11)x6, k5, Yo, k2.  (335st) 

R47: k2, Yo, k21, Yo, k1, Yo, k9,(k8, P2tog, k2, Yo, k3, Yo, k2, P2tog, k17, Yo, k1, Yo, k12)x6, k6, Yo, k2.  (351st) 
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Final edge in long picot 

For this edge, see the explanations there.  

This edge is casted off very simply (knit 2 sts, bind off the first on the second, and continue), 

I insert the beads with a hook about every 5 stitches, you can put more or less as desired. I 

made 3 long picots in the continuity of the strands on the ground thrush and 1 long pin in 

the continuity of the leaf motif at its center.  

On the one image you see on stitch what should be the picot of the leaf and the 3 pictures 

down this page you will find the place to put them on thrush. (These images are larger on 

the tutorial) After the binding off, bring in the threads, wash the shawl, and get fit. If you 

knit it whit yarn or any other fibers, take the time to block it and put this little shawl to his 

advantage.  

 

http://www.tricotepastout.com/archives/2016/05/13/33790095.html

